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Example of failed event




Reason for failure

e These spiraling electrons in the top of the

volume are reconstructed as several tracks

¢ VVixDAFit initially weights all tracks the same,
so this area shows up as a region of high
track density, and hence a region to search for
a vertex.

¢ VVixDAFit fails to find a vertex there and the
algorithm stops searching, under the
assumption that any subsequent vertices will
be of lower quality




The fix

* The fix | implemented for this is ™™ ="

to boost the weight of beam i

tracks by a factor of 100
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¢ This forces the algorithm to
work with vertices near beam
tracks first
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e The factor of 100 is arbitrary,
but is equivalent to assuming
that we know the beam track
positions x10 better than
secondary tracks. That Same event after the fix
assumption is not too far from
wrong.




